%%1) u

Ln (1-4A)
b) ii.d. o 10 2
X, A E () » 2T KoK,

2 ( 6.004,17. 332)

-U‘ }*)

7?2‘) 'ﬁ(?t nd = {%712-}

=> x(l)-::.W\ing'xt)'“)Xnﬁ 5 +|ne, ML_E :fmr,l
=> P(7 2 Xy ¥ Lin () = 1-2
=y [12957, =) is e 157 loiet cI iErrL

?? "(,_")
H) a) IE( A1 ’Lﬁ”<g>§_$+‘,q5 QQ“&

A

PO-P)

=> 196 =.03
-2
%‘“—"“7‘ Ny = 6%
—> n
AL




AEA) R
'O) (P‘PD/G" _/\JN(O,.U where

T = ?("‘P) . NV-N
N N A=\

=7 LE( | PPl ya) ':-2(‘-%(“/0-))

. Al
Q) p( ) =1

A A Y
N P(\.,J N-n .
o E(PiF*%rﬂd'//:‘ﬂ)z‘—“

for A=.0% g:,%?;z.aaw =y (0,0.16) I a5 hrp-

2729) o) A= {eielg} s oi=\2,-,k
We know : P(A)=1-a&L => IE(A?) = oy
K ¢ K c X .
-::=>ﬁE( UAl)é_ Z_E(Ai): Z"T"(\

= B ( fA)=1- (VA
V=) v =
>\ Za&,
k_m__,m_.,_"_ ““““““ I- “i _________________ - -
by  B((A T P(A)
P
= T("’ i)




0\) T~ Negorhwe Binerisd (8, \000)

b) JT(8) (é\-ﬁ) ~ N(0))  where

oo we have . T(0) = 00=F ([ e (5 ', o)

g1 - )%
A
Tlead U-—e) ) é\___e 4.2:_ PR WYY
=7 E ( - %!—HD"IQ_ = \/;:; ( ) B L-“*/Z_)
FA
EXE

= A=.| ; +t=5937

[0.1604,0.764) 90/. CT fr 6.




